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Wentu mapping agamnsaisenldwendu send signal NdsivazidennInIuans

bool send signal(int x, int a, int b)

e nsAumvesileitu send signal Wudadl
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mapping(9, -1)
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send signal(2, 3, 7)

returns false

send signal(1l, 6, 8)

returns false

send signal(4, 2, 7)

returns false

send signal(9, 9, 3)
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returns true
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send signal(2, 3, 7)
returns false

send signal(l, 6, 8)
returns false

send signal(4, 2, 7)

returns true (538EN19910 4 1U 2 11ana1 4 1U 7 ueliesainainuaiudrfeues 2 uag 7 aeiu 1 uay
gunsaliluvesuasy)
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send signal(9, 9, 3)
returns true
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¢ Time limit: 1 seconds
¢ Memory limit: 512 MB
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